# Distribution of intersection lengths of a random geodesic with a geodesic lamination

Martin Bridgeman Department of Mathematics, Boston College, Chestnut Hill, MA 02467

David Dumas\* Department of Mathematics, Brown University, Providence, RI 02912

March 15, 2007

#### Abstract

We investigate the distribution of lengths obtained by intersecting a random geodesic with a geodesic lamination. We give an explicit formula for the distribution for the case of a maximal lamination and show that the distribution is independent of the surface and lamination. We also show how the moments of the distribution are related to the Riemann zeta function.

## 1 Introduction

Let S be a closed hyperbolic surface and  $\lambda$  a maximal geodesic lamination on S. If we take an infinite geodesic  $\alpha$  on S, then  $\lambda \cap \alpha$  decomposes  $\alpha$  into geodesic arcs. We consider the distribution of the lengths of these arcs. We show that for almost every geodesic, the distribution is the same and we explicitly calculate this distribution.

Let  $v \in T_1(S)$  be a unit tangent vector on S and  $\alpha_v : \mathbf{R} \to S$  the geodesic parameterized by arc length such that  $v = \alpha'_v(0)$ . In the complement of  $\lambda$ ,  $\alpha_v$  is a countable union of open intervals (see Figure 1). We let

$$\alpha_v^{-1}(S-\lambda) = \bigcup_{j=1}^\infty I_j$$

where  $I_j$  are open disjoint intervals. We denote the length  $|I_j|$  of  $I_j$  by  $l_j$ .

**Definition:** The *length distribution*  $D_{\lambda}(v)$  is a measure on  $(0, \infty)$  given by

$$D_{\lambda,t}(v) = \frac{1}{t} \sum_{\substack{I_i \cap [0,t] \neq \emptyset}} \delta(l_i),$$
$$D_{\lambda}(v) = \overline{\lim_{t \to \infty}} D_{\lambda,t}(v)$$

<sup>\*</sup>The second author was partially supported by an NSF postdoctoral research fellowship.



Figure 1: Intersection of lamination  $\lambda$  with ray  $\alpha_v$  in direction v

where  $\delta(x)$  is the Dirac measure at x and the limit is taken with respect to the weak<sup>\*</sup> topology.

The main result is that for almost all vectors v, the distribution  $D_{\lambda}(v)$  is independent of  $\lambda$  and v and can be explicitly calculated.

**Theorem 1** Let  $\lambda$  be a maximal geodesic lamination. Then there exists a measure M such that for almost all  $v \in T_1(S)$  with respect to the volume measure on  $T_1(S)$  we have

$$D_{\lambda}(v) = \lim_{t \to \infty} D_{\lambda,t}(v) = M,$$

where

$$dM = \frac{6xdx}{\pi^2 \sinh^2 x}.$$

We define measure  $P_{\lambda}(v)$  on  $(0, \infty)$  similarly by

$$P_{\lambda,t}(v) = \frac{1}{t} \sum_{I_i \cap [0,t] \neq \emptyset} l_i \delta(l_i),$$
$$P_{\lambda}(v) = \overline{\lim_{t \to \infty}} P_{\lambda,t}(v).$$

Note that if  $\phi: (0,\infty) \to \mathbf{R}$  is a continuous function with compact support then

$$P_{\lambda,t}(v)(\phi(x)) = D_{\lambda,t}(v)(x\,\phi(x)).$$

Then we obtain the following corollary:

**Corollary 2** Let  $\lambda$  be a maximal geodesic lamination. Then for almost all  $v \in T_1(S)$  with respect to the volume measure on  $T_1(S)$ , the measure  $P_{\lambda}(v)$  is equal to the probability measure P given by

$$dP = \frac{6x^2 dx}{\pi^2 \sinh^2 x}.$$

Furthermore the probability measure P has expected value

$$E_P(x) = \frac{9}{\pi^2} \zeta(3),$$

and  $n^{th}$  moment given by

$$E_P(x^n) = \frac{3(n+2)!}{2^n \pi^2} \zeta(n+2),$$

where  $\zeta$  is the Riemann zeta function.

Before we give a proof of the corollary, let us describe a simple interpretation of the probability measure P in terms of the geometry of an ideal triangle. Consider picking a random tangent vector p in an ideal triangle T and let g(p) be the geodesic through p. Then P is the same probability distribution as the probability distribution of lengths of  $T \cap g(p)$ . In particular this corollary gives a nice description of  $\zeta(3)$  in terms of the average length of a segment in an ideal triangle.

**Proof of corollary:** Let  $\phi : (0, \infty) \to \mathbf{R}$  be a continuous function with compact support. Then by definition,  $P_{\lambda,t}(\alpha_v)(\phi(x)) = D_{\lambda,t}(v)(x \phi(x))$ . Therefore as  $x \phi(x)$  is continuous with compact support, it follows from the definition of the weak<sup>\*</sup> topology that  $P_{\lambda}(v)(\phi(x)) = D_{\lambda}(v)(x \phi(x))$ . Therefore for almost all  $v \in T_1(S)$ ,

$$P_{\lambda}(v)(\phi(x)) = \int_0^\infty x \,\phi(x) \,d(D_{\lambda}(v)) = \int_0^\infty \frac{6x^2 \phi(x) \,dx}{\pi^2 \sinh^2 x}.$$

It follows that for almost all  $v \in T_1(S)$ ,

$$d(P_{\lambda}(v)) = \frac{6x^2 \, dx}{\pi^2 \sinh^2 x}.$$

We let P be the measure on  $(0, \infty)$  with distribution given above. To show that P is a probability distribution and evaluate its moments, we calculate the integral

$$\int_0^\infty \frac{6x^n \, dx}{\pi^2 \sinh^2 x}$$

for  $n \ge 2$ . The antiderivative we describe below was found using *Mathematica* (see [7]).

Let  $li_n(z)$  be the principal branch of the  $n^{th}$  polylog function defined on the complex plane minus the real ray  $[1, \infty)$ . The power series expansion about 0 is given by

$$\mathrm{li}_n(x) = \sum_{k=1}^{\infty} \frac{x^k}{k^n}$$

and has radius of convergence 1.

For n = 0,  $li_0(x) = 1/(1-x)$ , and for n = 1,  $li_1(x) = log(1-x)$ . Also for n > 1, we have convergence at x = 1 and  $li_n(1) = \zeta(n)$ . Taking the derivative of the power series we obtain the relation

$$\mathrm{li}_n'(x) = \frac{\mathrm{li}_{n-1}(x)}{x}.$$

Let n be a positive integer greater than 1. We define a function  $F: (0, \infty) \to \mathbf{R}$  on the positive real axis by

$$F(x) = -\sum_{k=0}^{n} \frac{n!}{k! 2^{n-k-1}} x^k \mathrm{li}_{n-k}(e^{-2x}).$$

We now find the derivative of F. We have for  $k \neq n$ 

$$\frac{d}{dx}x^{k}\mathrm{li}_{n-k}(e^{-2x}) = kx^{k-1}\mathrm{li}_{n-k}(e^{-2x}) - 2x^{k}\mathrm{li}_{n-k-1}(e^{-2x}).$$

Also for k = n, as  $x^n \text{li}_0(e^{-2x}) = x^n/(1 - e^{-2x})$  we have

$$\frac{d}{dx}x^{n}\mathrm{li}_{0}(e^{-2x}) = nx^{n-1}\mathrm{li}_{0}(e^{-2x}) - \frac{2x^{n}e^{-2x}}{(1-e^{-2x})^{2}} = nx^{n-1}\mathrm{li}_{0}(e^{-2x}) - \frac{x^{n}}{2\sinh^{2}x}.$$

Putting all these derivatives together we have

$$F'(x) = \frac{x^n}{\sinh^2 x}$$

Then

$$\int_0^\infty \frac{x^n \, dx}{\sinh^2 x} = F(\infty) - F(0) = 0 - \left(-\frac{n!}{2^{n-1}} \mathrm{li}_n(1)\right) = \frac{n!}{2^{n-1}} \zeta(n).$$

Therefore as  $\zeta(2) = \pi^2/6$ 

$$\int_0^\infty \frac{6x^2 \, dx}{\pi^2 \sinh^2 x} = 1$$

Therefore the  $n^{th}$  moment of this probability distribution is

$$\int_0^\infty \frac{6x^{n+2} \, dx}{\pi^2 \sinh^2 x} = \frac{3(n+2)!}{2^n \pi^2} \zeta(n+2).$$

In particular, P is a probability measure and has expected value  $\frac{9}{\pi^2}\zeta(3)$ .

Given a geodesic current m, (a generalization of a closed geodesic described formally in the next section), we define a measure  $D_{\lambda}(m)$  on  $\mathbf{R}_{+}$  associated with the intersection of the geodesic current m with the geodesic lamination  $\lambda$ . We prove the following properties of the function  $m \to D_{\lambda}(m)$ .

**Theorem 3** Let  $\mu$  be the Liouville geodesic current for the closed hyperbolic surface S. Then

- 1.  $D_{\lambda}(\mu) = M$ , where M is as in Theorem 1.
- 2. If  $m_i$  are discrete geodesic currents such that  $m_i \rightarrow \mu$  then

$$\lim_{i \to \infty} D_{\lambda}(m_i) = D_{\lambda}(\mu) = M$$

Note that sequences  $m_i$  as in part 2 above are abundant: Bonahon shows in [1] that for almost any  $v \in T_1(S)$ , such a sequence can be constructed from the geodesic ray  $\alpha_v$  determined by v (by closing up long segments). The application of Theorem 3 to this construction is discussed in Corollary 17 below.

#### Acknowledgments

The authors thank the referee for comments and suggestions which greatly shortened and simplified the paper. The authors also thank Ed Taylor and Curt McMullen for helpful discussions.

## 2 Geodesic laminations and geodesic currents

Let S be a closed hyperbolic surface. A geodesic lamination is a closed subset of S that is the union of a disjoint collection of geodesics on S (see [6]). A geodesic lamination  $\lambda$  is maximal if  $S - \lambda$  is a disjoint collection of ideal triangles.

Let  $\mathbf{H}^2$  be the hyperbolic plane and  $G(\mathbf{H}^2)$  be the set of oriented geodesics in  $\mathbf{H}^2$ . We take the upper half plane model for  $\mathbf{H}^2$  in the Riemann sphere  $\hat{\mathbf{C}}$ . Then the boundary of  $\mathbf{H}^2$  in  $\hat{\mathbf{C}}$  is  $\overline{\mathbf{R}} = \mathbf{R} \cup \{\infty\}$  and is called the circle at infinity of  $\mathbf{H}^2$ . Identifying an oriented geodesic with its endpoints, we have that  $G(\mathbf{H}^2) = \overline{\mathbf{R}} \times \overline{\mathbf{R}} - \Lambda$  where  $\Lambda$  is the diagonal in the product space. We give  $G(\mathbf{H}^2)$  the subspace topology in  $\overline{\mathbf{R}} \times \overline{\mathbf{R}}$ .

In general, if X is a topological space, we let  $C_0(X)$  be the space of continuous functions on X with compact support. If m is a measure on X we obtain a linear function  $m: C_0(X) \to \mathbf{R}$  by defining

$$m(\phi) = \int_X \phi \, dm.$$

The set of non-negative measures on X is denoted M(X). The weak<sup>\*</sup> topology on M(X) has basis at  $m \in M(X)$  given by the sets  $U(m, \phi, \epsilon) = \{n \in M(X) | |n(\phi) - m(\phi)| < \epsilon\}$  where  $\phi \in C_0(X), \epsilon > 0$ . Thus  $m_i \to m$  if  $m_i(\phi) \to m(\phi)$  for all  $\phi \in C_0(X)$ . If  $A \subseteq X$  and  $m \in M(X)$  we define  $m|_A$  to be the restriction of the measure m to A.

Let  $S = \mathbf{H}^2/\Gamma$  be a closed hyperbolic surface, and  $\alpha$  a closed geodesic in S of length  $l(\alpha)$ . Then the preimage of  $\alpha$  in  $G(\mathbf{H}^2)$  is a  $\Gamma$ -invariant discrete subset. If  $\alpha$  is primitive, we obtain a  $\Gamma$  invariant measure  $m(\alpha)$  on  $G(\mathbf{H}^2)$ , by taking the Dirac measure on this set. If  $\alpha$  is not primitive and  $\alpha = \beta^k$ , where  $\beta$  is a primitive closed geodesic, we define  $m(\alpha) = k m(\beta)$ .

This measure is an example of a *geodesic current*.

**Definition:** A geodesic current on  $S = \mathbf{H}^2/\Gamma$  is a  $\Gamma$ -invariant positive measure on  $G(\mathbf{H}^2)$ . The space of geodesic currents on S is denoted  $\mathcal{C}(S)$  and given the weak<sup>\*</sup> topology.

If a geodesic current m is a positive real multiple of  $m(\alpha)$  for some closed geodesic  $\alpha$  in S, then m is called a *discrete geodesic current*. If m is a discrete geodesic current with  $m = \lambda m(\alpha), \lambda \in \mathbf{R}_+$ , we define the length l(m) of m by  $l(m) = \lambda l(\alpha)$  where  $l(\alpha)$  is the length of the closed geodesic  $\alpha$ . Another geodesic current is the *Liouville* measure given by

$$\mu([a,b] \times [c,d]) = \left| \log \left| \frac{(a-c)(b-d)}{(a-d)(b-c)} \right| \right|.$$

By the invariance of the cross-ratio under Möbius transformations,  $\mu$  is invariant under the group of isometries of  $\mathbf{H}^2$ . In particular  $\mu$  is invariant under the Fuchsian group  $\Gamma$  and is therefore a geodesic current. In fact,  $\mu$  is the unique measure on  $G(\mathbf{H}^2)$  (up to constant multiple) that is invariant under the full Möbius group. Differentially  $\mu$  is given by

$$d\mu_{(a,b)} = \frac{dxdy}{|a-b|^2}$$

where dxdy is the standard area measure on  $\mathbf{R} \times \mathbf{R}$ . For a full description of geodesic currents and their properties see Bonahon [1].

The following lemmas show that geodesic currents are a natural extension of closed geodesics.

**Lemma 4 (Bonahon** [1]) The set of discrete geodesic currents is dense in  $\mathcal{C}(S)$ .

**Lemma 5 (Bonahon [1])** There exists a continuous function  $l : C(S) \to \mathbf{R}_+$  such that  $l(m(\alpha)) = l(\alpha)$  for all closed geodesics  $\alpha$ , and l(km) = k l(m), for all  $k \in \mathbf{R}_+, m \in C(S)$ .

#### 3 Ergodic theory

Let S be a closed hyperbolic surface and  $\lambda$  a maximal lamination in S. Let  $T_1(S)$  be the unit tangent bundle of S and  $\Omega$  the standard volume measure on  $T_1(S)$ . We normalize  $\Omega$  to obtain the unit volume measure V on  $T_1(S)$ . Then as  $\Omega(T_1(S)) = 2\pi \operatorname{Area}(S) = 4\pi^2 |\chi(S)|$ ,

$$V = \frac{\Omega}{4\pi^2 |\chi(S)|}.$$

As before, if  $v \in T_1(S)$ , we let  $\alpha_v : \mathbf{R} \to S$  be the geodesic in S parameterized by arc length such that  $\alpha'_v(0) = v$ . Then  $\alpha_v^{-1}(S - \lambda) = \bigcup_i I_i$  with  $I_i$  having length  $l_i$ . We define a length function  $L_{\lambda} : T_1(S) \to [0, \infty]$  where  $L_{\lambda}(v) = l_j$  if  $\alpha_v(0) \in I_j$ , and otherwise  $L_{\lambda}(v) = 0$ . Then  $(L_{\lambda})_* V \in M(\mathbf{R}_+)$  is defined by  $((L_{\lambda})_* V)(\phi) = V(\phi \circ L)$ .

**Theorem 6** For almost all  $v \in T_1(S)$  (wrt  $\Omega$ ),  $\lim_{t\to\infty} P_{\lambda,t}(v)$  exists and satisfies

$$\lim_{t \to \infty} P_{\lambda,t}(v) = P_{\lambda}(v) = (L_{\lambda})_* V.$$

**Proof:** Let  $\phi \in C_0(\mathbf{R}_+)$ , a continuous function on  $\mathbf{R}_+$  with compact support. Then

$$P_{\lambda,t}(v)(\phi) = \frac{1}{t} \sum_{I_i \cap [0,t] \neq \emptyset} l_i \phi(l_i).$$

Let  $L_{\lambda}: T_1(S) \to \mathbf{R}_+$  be the function described above. Then if  $\alpha_v(t) \in I_i$ , we have  $L_{\lambda}(\alpha'_v(t)) = l_i$ . Therefore

$$P_{\lambda,t}(v)(\phi) = \frac{1}{t} \sum_{I_i \cap [0,t] \neq \emptyset} l_i \phi(l_i) = \frac{1}{t} \sum_{I_i \cap [0,t] \neq \emptyset} \int_{I_i} \phi(L_\lambda(\alpha'_v(t))) dt = \frac{1}{t} \int_{J_t} \phi(L_\lambda(\alpha'_v(t))) dt$$

where  $J_t$  is the union of the intervals  $I_i$  that intersect [0, t]. We compare  $P_{\lambda,t}(v)(\phi)$  to the time average, i.e.

$$Q_{\lambda,t}(v)(\phi) = \frac{1}{t} \int_0^t \phi(L_\lambda(\alpha'_v(s))) \, ds$$

If  $\alpha_v(0) \notin \lambda$ , then there exists an interval  $I_{i_0} = (-a_0, b_0)$  with  $0 \in I_{i_0}$ . If  $\alpha_v(0) \in \lambda$ , we set  $a_0 = 0$ . Similarly if  $\alpha_v(t) \notin \lambda$ , then there exists an interval  $I_{i_t} = (t - a_t, t + b_t)$  with  $t \in I_{i_t}$ . If  $\alpha_v(t) \in \lambda$ , we set  $b_t = 0$ . Then

$$P_{\lambda,t}(v)(\phi) - Q_{\lambda,t}(v)(\phi) = \frac{1}{t} \left( a_0 \phi(l_{i_0}) + b_t \phi(l_{i_t}) \right).$$

As  $\phi$  has compact support, let  $\operatorname{supp}(\phi) \subseteq [x, y]$ . Then we have

$$|P_{\lambda,t}(v)(\phi) - Q_{\lambda,t}(v)(\phi)| \le \frac{(a_0 + y) \, \|\phi\|_{\infty}}{t},\tag{1}$$

where  $\|\cdot\|_{\infty}$  is the sup norm.

The integral  $Q_{\lambda,t}(v)(\phi)$  is the time average of the function  $\phi \circ L_{\lambda}$  along the ray  $t \mapsto \alpha'_v(t)$  in  $T_1(S)$ . The function  $\phi \circ L_{\lambda}$  is easily shown to be in  $L^1(V)$ . As the geodesic flow on  $T_1(S)$  is ergodic (see [3]), by the Birkhoff ergodic theorem (see [2]) we have that for almost all v with respect to the volume measure V,

$$\lim_{t \to \infty} Q_{\lambda,t}(v)(\phi) = \int_{T_1(S)} \phi(L_\lambda(v)) \, dV = ((L_\lambda)_* V)(\phi).$$

Therefore, for any  $\phi \in C_0(\mathbf{R}_+)$  there exists a set of full measure  $A_\phi \subset T_1(S)$  such that

$$\lim_{t \to \infty} Q_{\lambda,t}(v)(\phi) = ((L_{\lambda})_* V)(\phi) \text{ for all } v \in A_{\phi}.$$

By the Weierstrass approximation theorem (see [5]), we can choose a countable basis  $\{\phi_i\}$  for the sup norm topology on  $C_0(\mathbf{R}_+)$ . Then  $A = \cap A_{\phi_i}$  is a set of full measure on which  $\lim_{t\to\infty} Q_{\lambda,t}(v)(\phi_i) = ((L_\lambda)_*V)(\phi_i)$  for all i.

Now let  $\phi \in C_0(\mathbf{R}_+)$  and  $v \in A$ . Then there exists a subsequence  $\phi_{i_j}$  converging uniformly to  $\phi$  on  $\mathbf{R}_+$ .

By linearity, we have

$$|Q_{\lambda,t}(v)(\phi) - Q_{\lambda,t}(v)(\phi_{i_j})| \le \|\phi_{i_j} - \phi\|_{\infty} \qquad |((L_{\lambda})_*V)(\phi_{i_j}) - ((L_{\lambda})_*V)(\phi)| \le \|\phi_{i_j} - \phi\|_{\infty}$$

By uniform convergence of  $\phi_{i_j}$ , for any  $\epsilon > 0$ , there exists an m > 0 such that  $\|\phi_{i_j} - \phi\|_{\infty} < \epsilon$  for all j > m. We choose a j > m, then

$$\begin{aligned} |Q_{\lambda,t}(v)(\phi) - ((L_{\lambda})_*V)(\phi)| &\leq |Q_{\lambda,t}(v)(\phi) - Q_{\lambda,t}(v)(\phi_{i_j})| + |Q_{\lambda,t}(v)(\phi_{i_j}) - ((L_{\lambda})_*V)(\phi_{i_j})| \\ &+ |((L_{\lambda})_*V)(\phi_{i_j}) - ((L_{\lambda})_*V)(\phi)|. \end{aligned}$$

Therefore

$$|Q_{\lambda,t}(v)(\phi) - ((L_{\lambda})_*V)(\phi)| \le |Q_{\lambda,t}(v)(\phi_{i_j}) - ((L_{\lambda})_*V)(\phi_{i_j})| + 2\epsilon.$$

As  $v \in A$ ,  $\lim_{t\to\infty} Q_{\lambda,t}(v)(\phi_{i_j}) = ((L_{\lambda})_*V)(\phi_{i_j})$ . Thus there exists a T > 0 such that

$$|Q_{\lambda,t}(v)(\phi_{i_j}) - ((L_{\lambda})_*V)(\phi_{i_j})| \le \epsilon \qquad \text{for all } t \ge T.$$

Therefore

$$|Q_{\lambda,t}(v)(\phi) - (L_{\lambda})_*(V)(\phi)| \le 3\epsilon \qquad \text{for all } t \ge T$$

giving

$$\lim_{t \to \infty} Q_{\lambda,t}(v)(\phi) = ((L_{\lambda})_* V)(\phi).$$

By (1) there are constants  $a_0, y$  such that

$$|P_{\lambda,t}(v)(\phi) - Q_{\lambda,t}(v)(\phi)| \le \frac{(a_0 + y) \|\phi\|_{\infty}}{t}$$

Therefore we have

$$\lim_{t \to \infty} P_{\lambda,t}(v)(\phi) = \lim_{t \to \infty} Q_{\lambda,t}(v)(\phi) = ((L_{\lambda})_* V)(\phi).$$

As  $\phi$  is arbitrary,

$$\lim_{t \to \infty} P_{\lambda,t}(v) = (L_{\lambda})_* V \qquad \text{for almost every } v \in T_1(S).$$

Let  $M(\mathbf{R}_+)$  be the space of measures on the open interval  $(0,\infty)$  with the weak<sup>\*</sup> topology. If  $f: \mathbf{R}_+ \to \mathbf{R}_+$  is a continuous function, then we obtain a map  $\hat{f}: M(\mathbf{R}_+) \to M(\mathbf{R}_+)$  given by

$$\hat{f}(m)(\phi) = m(f \cdot \phi) = \int_0^\infty f(x)\phi(x) \, dm$$

for any  $\phi \in C_0(\mathbf{R}_+)$  with compact support. On the level of infinitesimals, the map  $\hat{f}$  is just multiplication by the function f and thus has inverse  $\widehat{(1/f)}$ .

Taking r(x) = 1/x, we have by definition that

$$\hat{r}(P_{\lambda,t}(v)) = D_{\lambda,t}(v).$$

Therefore we have the following corollary.

**Corollary 7** For almost all  $v \in T_1(S)$  (wrt  $\Omega$ ),  $\lim_{t\to\infty} D_{\lambda,t}(v)$  exists and satisfies

$$\lim_{t \to \infty} D_{\lambda,t}(v) = D_{\lambda}(v) = \hat{r}((L_{\lambda})_*V).$$

From the above corollary, Theorem 1 follows from calculating  $(L_{\lambda})_*V$ . Before we do the calculation, we consider the simpler case of geodesics and geodesic currents intersecting a single ideal triangle in  $\mathbf{H}^2$ .

## 4 Intersection of a geodesic current with an ideal triangle

We first consider the length of intersection of a geodesic with a fixed ideal triangle. Let T be an ideal triangle in  $\mathbf{H}^2$ . We define  $L : G(\mathbf{H}^2) \to [0, \infty]$  by  $L(g) = \text{Length}(g \cap T)$ , with L(g) = 0 if  $g \cap T = \emptyset$ . We observe that if L(g) is non-zero and finite, then L is continuous at g. Thus letting  $O_T = L^{-1}((0, \infty))$  we have that L is continuous when restricted to  $O_T$ .

If *m* is a geodesic current, we define a measure  $L_*m$  on  $(0, \infty)$  as follows. Let  $\phi : (0, \infty) \to \mathbf{R}$  be a continuous map with compact support in  $(0, \infty)$ . We extend  $\phi$  to a continuous map  $\overline{\phi} : [0, \infty] \to \mathbf{R}$  by defining  $\overline{\phi}(0) = \overline{\phi}(\infty) = 0$  and  $\overline{\phi}(x) = \phi(x)$  otherwise. We then define the measure  $L_*m$  on  $(0, \infty)$  by letting  $(L_*m)(\phi) = m(\overline{\phi} \circ L)$ . We will suppress the extension notation in what follows and identify  $\phi$  with  $\overline{\phi}$ .

We now describe the length function L in terms of the endpoints of the geodesic. Let T be the ideal triangle in the upper half space  $\mathbf{H}^2$  with endpoints  $\{0, 1, \infty\}$  in  $\overline{\mathbf{R}}$ . We denote the intervals  $I_1 = (-\infty, 0), I_2 = (0, 1)$  and  $I_3 = (1, \infty)$ . We consider the nine subsets  $I_i \times I_j \subseteq G(\mathbf{H}^2)$ . If  $g \in I_i \times I_i$  then  $g \cap T = \emptyset$  and therefore L = 0 on the subsets  $I_i \times I_i$ . If  $g \notin I_i \times I_j$  for any i, j, then g has one endpoint in  $\{0, 1, \infty\}$  and therefore has either zero or infinite length. Therefore the set  $O_T = L^{-1}((0, \infty))$  is given by

$$O_T = \bigcup_{\substack{i \neq j \\ i, j}}^3 I_i \times I_j$$

We define  $L_{ij}: I_i \times I_j \to (0, \infty)$  to be the restriction of L to  $I_i \times I_j$ .

**Lemma 8** The length function  $L_{12}: I_1 \times I_2 \to (0, \infty)$  is given by the formula

$$L_{12}(u,v) = \frac{1}{2} \ln\left(\frac{1-u}{1-v}\right).$$

**Proof:** We will first find  $L_{13}$ . Let  $g = (u, v) \in I_1 \times I_3$  be a geodesic. We drop a perpendicular P from  $\infty$  to g, with vertex p. We will first assume that  $p \in T$ . Then P and g decompose T into two triangles and a quadrilateral. We label the triangles  $T_0$  and  $T_1$  so that the vertical line x = i is a side of  $T_i$ . Both triangles have a right angle and an ideal vertex. We label the other angle of  $T_i$  by  $\theta_i$  and the length of the only finite length side of  $T_i$  by  $l_i$  (see Figure 2). Then  $L_{13}(u, v) = l_0 + l_1$ . By hyperbolic trigonometry we have  $\tanh l_i = \cos \theta_i$  (see [6]). We denote the euclidean center and radius of g by c, r respectively. Then u = c - r, v = c + r. From euclidean trigonometry we have

$$\tanh l_0 = \cos \theta_0 = \frac{c}{r} \qquad \tanh l_1 = \cos \theta_1 = \frac{1-c}{r}.$$

As  $\tanh^{-1} x = \frac{1}{2} \ln(\frac{1+x}{1-x})$ , we have

$$l_0 = \frac{1}{2} \ln\left(\frac{1+\frac{c}{r}}{1-\frac{c}{r}}\right) = \frac{1}{2} \ln\left(-\frac{v}{u}\right), \qquad l_1 = \frac{1}{2} \ln\left(\frac{1+\frac{1-c}{r}}{1-\frac{1-c}{r}}\right) = \frac{1}{2} \ln\left(\frac{-u+1}{v-1}\right).$$



Figure 2: The intersection of a geodesic g with the standard ideal triangle T in  $\mathbf{H}^2$ 

Combining we obtain

$$L_{13}(u,v) = \frac{1}{2} \ln \left( \frac{v(u-1)}{u(v-1)} \right).$$

The case when  $p \notin T$  gives the same formula.

The isometry  $f(z) = 1/\overline{z}$  maps  $I_1 \times I_3$  to  $I_1 \times I_2$ . Therefore on  $I_1 \times I_2$  we have

$$L_{12}(u,v) = L_{13}(1/u, 1/v) = \frac{1}{2} \ln\left(\frac{1-u}{1-v}\right).$$

Recall that  $\mu$  is the Liouville measure on  $G(\mathbf{H}^2)$ . We now use Lemma 8 to calculate its pushforward by L.

**Theorem 9** The measure  $M_T = L_*\mu$  is given differentially by

$$dM_T = \frac{6x \, dx}{\sinh^2 x}.$$

**Proof:** As  $\mu$  is invariant under Möbius transformations, it suffices to consider the standard ideal triangle T with endpoints  $\{0, 1, \infty\}$  in  $\overline{\mathbf{R}}$ . As before we note that L is supported in  $O_T = \bigcup_{i \neq j} I_i \times I_j$  where  $I_1 = (-\infty, 0), I_2 = (0, 1)$  and  $I_3 = (1, \infty)$ .

Let  $\phi: (0, \infty) \to \mathbf{R}$  be a continuous function with compact support on  $(0, \infty)$ . Then by definition of the pushforward, we have

$$(L_*\mu)(\phi) = \mu(\phi \circ L) = \sum_{\substack{i \neq j \\ i,j=1}}^3 \left( \int_{I_i \times I_j} \phi \circ L \, d\mu \right) = \sum_{\substack{i \neq j \\ i,j=1}}^3 M_{ij}(\phi).$$

Thus  $L_*\mu$  on  $(0,\infty)$  is the sum of the six measures  $M_{ij}, i \neq j$ .

Let  $i \neq j$  and  $k \neq l$ , then there exists a Möbius transformation p sending T to itself and mapping  $I_i \times I_j$  homeomorphically to  $I_k \times I_l$ . By invariance of  $\mu$ , we have  $\mu = p_*\mu$ . The map p is a hyperbolic isometry and sends T to itself, thus  $L \circ p = L$ . Therefore by change of variable in the integral  $M_{ij}$  we have  $M_{kl} = M_{ij}$ . Thus

$$L_*\mu = 6 M_{12}.$$

By Lemma 8 we have that for  $(u, v) \in I_1 \times I_2$ 

$$L(u, v) = \frac{1}{2} \ln \left( \frac{1-u}{1-v} \right).$$

Letting x = L(u, v), we solve for u and v, to obtain  $u = 1 - (1 - v)e^{2x}$ ,  $v = 1 - (1 - u)e^{-2x}$ . The measure  $\mu$  is given differentially by

$$d\mu = \frac{dudv}{|u-v|^2}$$

Therefore

$$M_{12}(\phi) = \int_{I_1} \int_{I_2} \frac{\phi(L(u,v)) \, du dv}{|u-v|^2}$$

We make the change of variable x = L(u, v), v = v. Then  $u = f(v, x) = 1 - (1 - v)e^{2x}$  and v = g(v, x) = v. Thus the Jacobian is

$$J(v,x) = \begin{vmatrix} \frac{\partial f}{\partial x} & \frac{\partial g}{\partial x} \\ \frac{\partial f}{\partial v} & \frac{\partial g}{\partial v} \end{vmatrix} = \begin{vmatrix} -2(1-v)e^{2x} & 0 \\ e^{2x} & 1 \end{vmatrix} = 2(1-v)e^{2x}.$$

Then we have

$$d\mu = \frac{J(v,x) \, dv dx}{|u-v|^2} = \frac{2(1-v)e^{2x} \, dv dx}{|1-(1-v)e^{2x}-v|^2} = \frac{dv dx}{2(1-v)\sinh^2 x}$$

Let F(u, v) = (v, x). Then we have that

$$M_{12}(\phi) = \int_{F(I_1 \times I_2)} \frac{\phi(x) \, dv dx}{2(1-v) \sinh^2 x}.$$

We now need to find  $F(I_1 \times I_2)$ . We fix a  $v \in (0, 1)$ . Then from the formula for L in terms of u, v it follows that L has range

$$\frac{1}{2}\ln\left(\frac{1}{1-v}\right) < L(u,v) < \infty.$$

Therefore

$$F(I_1 \times I_2) = \left\{ (v, x) \ \left| \ 0 < v < 1, \ \frac{1}{2} \ln\left(\frac{1}{1 - v}\right) < x < \infty \right. \right\}$$

rewriting we obtain

$$F(I_1 \times I_2) = \{(v, x) \mid 0 < v < 1 - e^{-2x}, \ 0 < x < \infty\}.$$

Therefore

$$M_{12}(\phi) = \int_0^\infty \left( \int_0^{1-e^{-2x}} \frac{dv}{2(1-v)} \right) \frac{\phi(x) \, dx}{\sinh^2 x}.$$

Substituting t = 1 - v we get

$$\int_0^{1-e^{-2x}} \frac{dv}{2(1-v)} = \frac{1}{2} \int_{e^{-2x}}^1 \frac{dt}{t} = \frac{1}{2} (\ln(1) - \ln(e^{-2x})) = x.$$

Therefore we have

$$M_{12}(\phi) = \int_0^\infty \frac{x\phi(x)\,dx}{\sinh^2 x},$$

giving

$$dM_T = \frac{6x \, dx}{\sinh^2 x}.$$

Related to the measure  $M_T$  is a probability measure  $P_T$  on  $(0, \infty)$  given by the pushforward of the unit volume measure on the unit tangent bundle  $T_1(T)$  to an ideal triangle T. If  $p \in T_1(T)$  then associated to p we let g(p) be the oriented geodesic with tangent vector p. Then L(g(p)) is the length of the segment through p in T. The measure  $P_T$  is defined to be the probability distribution of lengths for a randomly chosen tangent vector in T.

If we let  $\Omega$  be the standard volume measure on  $T_1(T)$ , then the probability measure  $P_T$  is given by

$$P_T = \frac{(L \circ g)_* \Omega}{\Omega(T_1(T))}.$$

**Theorem 10** The measure  $P_T$  is given differentially by

$$dP_T = \frac{6x^2 dx}{\pi^2 \sinh^2 x}.$$

**Proof:** The map  $g: T_1(\mathbf{H}^2) \to G(\mathbf{H}^2)$  is a trivial fiber bundle. Thus we have  $T_1(\mathbf{H}^2) = G(\mathbf{H}^2) \times \mathbf{R}$ . In terms of this representation, the volume form  $\Omega$  is given by  $d\Omega = 2d\mu \times dt$  where  $\mu$  is the Liouville geodesic current and dt is hyperbolic length along the fiber (see [4] for details). Thus

$$(L \circ g)_* \Omega(\phi) = \int_{T_1(T)} \phi(L(g(p))) \, d\Omega.$$

As  $T_1(\mathbf{H}^2) = G(\mathbf{H}^2) \times \mathbf{R}$ , we have *p* represented by (x, y, t) where (x, y) are the endpoints of g(p). Furthermore  $d\mu = dxdy/|x - y|^2$ . Also, for a given geodesic (x, y), the parameter *t* takes values from c(x, y) to c(x, y) + L(x, y), for some constant c(x, y). Thus

$$(L \circ g)_* \Omega(\phi) = \sum_{\substack{i,j=1\\i \neq j}}^3 \int_{I_i \times I_j} \frac{2 \, dx dy}{|x-y|^2} \int_{c(x,y)}^{c(x,y)+L(x,y)} \phi(L(x,y)) \, dt.$$

Therefore integrating over t

$$(L \circ g)_* \Omega(\phi) = \sum_{\substack{i,j=1\\i \neq j}}^3 \int_{I_i \times I_j} \frac{2\phi(L(x,y))L(x,y) \, dxdy}{|x-y|^2}.$$

Using Theorem 9 and performing the change of variables l = L(x, y), y = y, we obtain

$$(L \circ g)_* \Omega(\phi) = \sum_{\substack{i,j=1\\i \neq j}}^3 \int_0^\infty \frac{2l^2 \phi(l)}{\sinh^2 l} \, dl = \int_0^\infty \frac{12l^2 \phi(l)}{\sinh^2 l} \, dl.$$

Therefore normalizing by  $\Omega(T_1(T)) = 2\pi^2$ , we obtain

$$dP_T(x) = \frac{6x^2}{\pi^2 \sinh^2 x} dx.$$

An immediate corollary relates the expected value of  $P_T$  to the Riemann zeta function;

**Corollary 11** The expected value  $E(P_T)$  of  $P_T$  is given by

$$E(P_T) = \int_0^\infty \frac{6x^3}{\pi^2 \sinh^2 x} \, dx = \frac{9}{\pi^2} \zeta(3) = 1.09614\dots$$

To put this expected value in perspective, we observe that it is quite close to the diameter of the hyperbolic disk inscribed in T, which is  $\log(3) = 1.09861...$ 

# 5 Calculating $(L_{\lambda})_*V$

Let  $S = \mathbf{H}^2/\Gamma$  be a closed hyperbolic surface and let  $\lambda$  be a maximal geodesic lamination on S. Then  $S - \lambda = \bigcup_{i=1}^{k} T_i$  where  $T_i$  are disjoint ideal triangles. Then as the area of S is  $2\pi |\chi(S)|$ , we have  $k = 2|\chi(S)|$ . We let  $T'_i$  be an ideal triangle in  $\mathbf{H}^2$  which is a lift of  $T_i$ . Then as before, we define  $L'_i(g) = \text{Length}(g \cap T'_i)$ . If  $T''_i$  is another lift of  $T_i$ , then there exists a Möbius transformation  $p \in \Gamma$  with  $p(T'_i) = T''_i$ . Let  $L''_i(g) = \text{Length}(g \cap T''_i)$ . Then  $L'_i(g) = \text{Length}(g \cap p^{-1}(T''_i)) = \text{Length}(p(g) \cap T''_i) = L''_i(p(g))$ . Therefore  $L'_i = L''_i \circ p$ . Thus if  $m \in \mathcal{C}(S)$  is a geodesic current, then  $(L'_i)_*m = (L''_i \circ p)_*m = (L''_i)_*(p_*m)$ . As m is invariant under  $\Gamma$ ,  $p_*m = m$ . Therefore  $(L'_i)_*m = (L''_i)_*m$  and therefore can define  $(L_i)_*m = (L'_i)_*m$ .

**Definition:** If m is a geodesic current of length l(m) then the distribution of lengths of intersections of m and  $\lambda$ , denoted  $D_{\lambda}(m)$ , is the measure

$$D_{\lambda}(m) = \frac{1}{l(m)} \sum_{i=1}^{k} (L_i)_* m.$$

From Theorem 9 we have that on  $(0,\infty)$ 

$$d(D_{\lambda}(\mu)) = \frac{12|\chi(S)|x\,dx}{l(\mu)\sinh^2 x}.$$

Then as  $l(\mu) = 2\pi^2 |\chi(S)|$  (see Bonahon [1]), we have

$$d(D_{\lambda}(\mu)) = \frac{6x \, dx}{\pi^2 \sinh^2 x} = dM.$$

Thus  $D_{\lambda}(\mu) = M$  and we call M the distribution of lengths of intersections for a maximal lamination. This proves part 1 of Theorem 3.

**Theorem 12** For any maximal geodesic lamination  $\lambda$ , the pushforward of the normalized volume measure V on  $T_1(S)$  by  $L_{\lambda}$  is given by

$$(L_{\lambda})_*V = P_T.$$

**Proof:** As V is the unit volume measure obtained by normalizing  $\Omega$ , and  $\Omega(T_1(S)) = 4\pi^2 |\chi(S)|$ , we have

$$((L_{\lambda})_*V)(\phi) = \frac{1}{4\pi^2 |\chi(S)|} \int_{T_1(S)} \phi(L_{\lambda}(v)) \, d\Omega.$$

As  $\lambda$  is a maximal lamination, we have  $S - \lambda = \bigcup_{i=1}^{k} T_i$  where  $T_i$  are disjoint ideal triangles. As  $\lambda \subset S$  is measure zero, we have

$$((L_{\lambda})_*V)(\phi) = \frac{1}{4\pi^2 |\chi(S)|} \sum_{i=1}^k \int_{T_1(T_i)} \phi(L_{\lambda}(v)) \, d\Omega.$$

Let  $q: T_1(\mathbf{H}^2) \to T_1(S)$  be the standard covering map. Let  $T'_i$  be a lift of  $T_i$  to  $\mathbf{H}^2$ . Then we lift the integrals over  $T_i$  using q to integrals over  $T'_i$ , also using  $\Omega$  to denote the volume measure on  $T_1(\mathbf{H}^2)$ , and obtain

$$\int_{T_1(T_i)} \phi(L_{\lambda}(v)) \, d\Omega = \int_{T_1(T_i')} \phi(L_{\lambda}(q(v)) \, d\Omega.$$

Let  $g: T_1(\mathbf{H}^2) \to G(\mathbf{H}^2)$  be the fibre bundle such that v is tangent to geodesic g(v). As above, let  $L_i: G(\mathbf{H}^2) \to [0,\infty]$  where  $L_i(g) = \text{Length}(g \cap T'_i)$ . Then for  $v \in T_1(T'_i)$ ,  $L_\lambda(q(v)) = L_i(g(v))$  and

$$\int_{T_1(T'_i)} \phi(L_\lambda(q(v)) \ d\Omega = \int_{T_1(T'_i)} \phi(L_i(g(v)) \ d\Omega.$$

By Theorem 10,

$$\int_{T_1(T_i')} \phi(L_i(g(v)) \, d\Omega = 2\pi^2 P_T(\phi)$$

Therefore as there are  $2|\chi(S)|$  triangles  $T_i$ , we combine to obtain

$$((L_{\lambda})_*V)(\phi) = \frac{1}{4\pi^2 |\chi(S)|} \sum_{i=1}^k (2\pi^2 P_T(\phi)) = P_T(\phi).$$

Finally we have

$$d((L_{\lambda})_*V) = dP_T = \frac{6x^2 dx}{\pi^2 \sinh^2 x}.$$

Applying Corollary 7, we obtain

**Corollary 13** For almost all  $v \in T_1(S)$  (wrt  $\Omega$ ), we have  $D_{\lambda}(v) = M$  and thus

$$d(D_{\lambda}(v)) = \frac{6x \, dx}{\pi^2 \sinh^2 x}.$$

The above corollary completes the proof of Theorem 1.

## 6 Continuity of $D_{\lambda}$ at $\mu$

In this section we prove part 2 of of Theorem 3. We recall the definition of  $D_{\lambda}(m)$ :

$$D_{\lambda}(m) = \frac{1}{l(m)} \sum_{i=1}^{k} (L_i)_* m.$$

We first prove a lemma about weak<sup>\*</sup> convergence.

**Lemma 14** Let  $X \subseteq \mathbf{R}^n$  be open and  $K \subseteq X$  a compact domain with piecewise smooth boundary  $\partial K$ . If  $m \in M(X)$  we define  $\overline{m} \in M(K)$  to be the restriction of m to K. Let  $m_i \to m$  in M(X) and  $\phi: K \to \mathbf{R}$  continuous on K. Then

$$\overline{\lim_{i \to \infty}} \left| \overline{m}_i(\phi) - \overline{m}(\phi) \right| \le \int_{\partial K} |\phi| \, dm.$$

**Proof:** Let  $\phi : K \to \mathbf{R}$  be a continuous function. We let  $\phi = \phi^+ - \phi^-$  where  $\phi^+, \phi^-$  are both continuous non-negative functions on K. If the lemma is true for non-negative functions then we have

$$\overline{\lim_{i \to \infty}} |\overline{m}_i(\phi) - \overline{m}(\phi)| = \overline{\lim_{i \to \infty}} \left| \overline{m}_i(\phi^+ - \phi^-) - \overline{m}(\phi^+ - \phi^-) \right| \\
\leq \overline{\lim_{i \to \infty}} \left| \overline{m}_i(\phi^+) - \overline{m}(\phi^+) \right| + \overline{\lim_{i \to \infty}} \left| \overline{m}_i(\phi^-) - \overline{m}(\phi^-) \right| \\
\leq \int_{\partial K} \phi^+ \, dm + \int_{\partial K} \phi^- \, dm = \int_{\partial K} |\phi| \, dm.$$

We let  $\phi : K \to \mathbf{R}$  be a continuous non-negative function. Given an  $\epsilon > 0$ , we let  $N_{\epsilon}(\partial K)$  be the  $\epsilon$  neighborhood of the boundary of K. For  $\epsilon$  small, we obtain non-empty compact domains  $K_{-\epsilon}, K_{+\epsilon}$  given by  $K_{-\epsilon} = K - N_{\epsilon}(\partial K)$ , and  $K_{+\epsilon} = K \cup \overline{N_{\epsilon}(\partial K)}$ . Then  $K_{-\epsilon} \subset K \subset K_{+\epsilon}$ . We define continuous non-negative functions with compact support  $\phi_{-\epsilon} : X \to \mathbf{R}$ ,  $\phi_{+\epsilon} : X \to \mathbf{R}$  which will approximate  $\phi$  from above and below.

The function  $\phi_{-\epsilon}$  is chosen to be pointwise monotonically increasing in  $\epsilon$  and satisfy

$$\operatorname{supp}(\phi_{-\epsilon}) \subseteq K, \qquad \phi_{-\epsilon}(x) = \phi(x) \text{ for } x \in K_{-\epsilon}, \qquad \phi_{-\epsilon}(x) \le \phi(x) \text{ for } x \in K.$$

The function  $\phi_{+\epsilon}$  is similarly chosen to be pointwise monotonically decreasing in  $\epsilon$  and satisfy

$$\operatorname{supp}(\phi_{+\epsilon}) \subseteq K_{+\epsilon}, \qquad \phi_{+\epsilon}(x) = \phi(x) \text{ for } x \in K, \qquad \|\phi_{+\epsilon}\|_X \le \|\phi\|_K.$$

Then as the measures are positive, we have

$$m_i(\phi_{-\epsilon}) - m(\phi_{+\epsilon}) \le \overline{m}_i(\phi) - \overline{m}(\phi) \le m_i(\phi_{+\epsilon}) - m(\phi_{-\epsilon}).$$

As  $m_i \to m$  we take limits to obtain

$$m(\phi_{-\epsilon}) - m(\phi_{+\epsilon}) \le \lim_{i \to \infty} (\overline{m}_i(\phi) - \overline{m}(\phi)) \le \overline{\lim_{i \to \infty}} (\overline{m}_i(\phi) - \overline{m}(\phi)) \le m(\phi_{+\epsilon}) - m(\phi_{-\epsilon}).$$

Thus letting  $\psi_{\epsilon} = \phi_{+\epsilon} - \phi_{-\epsilon}$ , we have

$$\overline{\lim_{i \to \infty}} \left| \overline{m}_i(\phi) - \overline{m}(\phi) \right| \le \left| m(\psi_{\epsilon}) \right|.$$

The function  $\psi_{\epsilon}$  is non-negative, monotonically decreasing in  $\epsilon$ , and has  $\operatorname{supp}(\psi_{\epsilon}) \subseteq \overline{N_{\epsilon}(\partial K)}$ . Furthermore if  $x \notin \partial K$ , then  $\lim_{\epsilon \to 0} \psi_{\epsilon}(x) = 0$  and if  $x \in \partial K$  then  $\lim_{\epsilon \to 0} \psi_{\epsilon}(x) = \phi(x)$ . Therefore by Lebesgue dominated convergence (see [5]) we have

$$\lim_{\epsilon \to 0} m(\psi_{\epsilon}) = \int_{\partial K} \phi \, dm.$$

Thus

$$\overline{\lim_{i \to \infty}} |\overline{m}_i(\phi) - \overline{m}(\phi)| \le \int_{\partial K} \phi \, dm.$$

**Lemma 15** Let T be the lift of an ideal triangle embedded in S and  $\mu$  be the Liouville geodesic current of S. If  $m_i$  is a sequence of discrete geodesic currents such that  $m_i \to \mu$ , then  $L_*m_i \to L_*\mu$ .

**Proof:** We need to show that if  $\phi : (0, \infty) \to \mathbf{R}$  is continuous with compact support then  $L_*m_i(\phi) \to L_*\mu(\phi)$ , or equivalently that  $m_i(\phi \circ L) \to \mu(\phi \circ L)$ . This would follow directly from the definition of the weak<sup>\*</sup> topology if  $\phi \circ L$  were continuous and compactly supported, however this is not the case. To establish the convergence we will instead describe a continuous function  $\hat{L}$  such that  $\phi \circ \hat{L}$  has compact support and  $m(\phi \circ L) = m(\phi \circ \hat{L})$ . Then continuity follows from the definition of the weak<sup>\*</sup> topology.

Let  $\operatorname{supp}(\phi) = [a, b] \subseteq (0, \infty)$ . As before we need only integrate  $\phi \circ L$  over  $O_T = L^{-1}((0, \infty))$ . We move T by a Möbius transformation to have endpoints  $\{0, 1, \infty\}$  in the upper half space model of  $\mathbf{H}^2$ . Then as in Lemma 8, the set  $O_T$  is composed of 6 open sets  $I_i \times I_j, i, j = 1, \ldots, 3, i \neq j$ .

Let  $A = L^{-1}([a, b])$  be the set of all geodesics in  $O_T$  with length between a and b. We let  $A_{ij} = A \cap (I_i \times I_j)$  and  $L_{ij} : I_i \times I_j \to (0, \infty)$  be the restriction of L to  $I_i \times I_j$ . Then for  $m \in \mathcal{C}(S)$ ,

$$L_*m(\phi) = m(\phi \circ L) = \sum_{\substack{i \neq j \\ i,i=1}}^3 \left( \int_{I_i \times I_j} \phi \circ L_{ij} \, dm \right) = \sum_{\substack{i \neq j \\ i,i=1}}^3 m|_{I_i \times I_j}(\phi \circ L_{ij}).$$

By the formula for  $L_{12}$  we have if  $(u, v) \in A_{12}$  then

$$a \le \frac{1}{2} \ln\left(\frac{1-u}{1-v}\right) \le b.$$

Solving we get

$$(1-v)e^{2a} \le 1-u \le (1-v)e^{2b}.$$

As v > 0, we get  $1 - u \le e^{2b}$  giving  $1 - e^{2b} \le u$ . Similarly as u < 0 we get  $1 \le (1 - v)e^{2b}$  giving  $v \le 1 - e^{-2b}$ . Thus we have  $1 - e^{2b} \le u$  and  $v \le 1 - e^{-2b}$ . Thus  $A_{12} \subseteq [1 - e^{2b}, 0) \times (0, 1 - e^{-2b}]$ .

We choose  $\epsilon > 0$  so that if both u, v are within  $\epsilon$  of 0, then  $L_{12}(u, v) < a$ . Using the formula for  $L_{12}$ , we can choose  $\epsilon = (e^{2a} - 1)/(e^{2a} + 1)$ .

Thus we consider the intervals

$$J_1 = [1 - e^{2b}, -\epsilon], J'_1 = [-\epsilon, 0] \text{ and } J_2 = [\epsilon, 1 - e^{-2b}], J'_2 = [0, \epsilon].$$

Then the set  $K = (J_1 \times J_2) \cup (J_1 \times J'_2) \cup (J'_1 \times J_2)$  is a compact subset of  $G(\mathbf{H}^2)$  (see Figure 3). Also, we have that  $\operatorname{supp}(\phi \circ L_{12}) \subseteq K$ .

The function  $\phi \circ L_{12}$  is not continuous on K, being discontinuous at the points  $D = (J_1 \times \{0\}) \cup (\{0\} \times J_2) \subseteq \partial K$ . We define the function  $\hat{L}_{12} : K \to \mathbf{R}$  by

$$\hat{L}_{12}(u,v) = \frac{1}{2} \ln\left(\frac{1-u}{1-v}\right).$$



Figure 3: The region K as a subset of  $\mathbf{R}^2$ 

Note that this is the same formula as we obtained for  $L_{12}$  in Lemma 8, however, here we allow any  $(u, v) \in K$  whereas  $L_{12}$  is supported on  $I_1 \times I_2$ . The key difference is that K includes some geodesics (i.e. D) sharing one ideal endpoint with T, and  $L_{12}$  extends continuously to these points, giving  $\hat{L}_{12}$ .

Thus  $\hat{L}_{12}$  is continuous on K, with  $\hat{L}_{12} = L$  on K - D, and we have

$$\left| m \right|_{K} (\phi \circ \hat{L}_{12}) - m |_{I_{1} \times I_{2}} (\phi \circ L_{12}) \right| = \left| \int_{D} \phi \circ \hat{L}_{12} \, dm \right| \le m(D) \|\phi\|.$$

If  $m = \mu$  then m(D) = 0 by the definition of  $\mu$ . As T is a lift of an embedded ideal triangle in S, none of the vertices of T can be an endpoint of a closed geodesic on S. Therefore for m discrete, m(D) = 0. Thus for  $m = \mu$  or  $m_i$ ,

$$m|_{I_1 \times I_2}(\phi \circ L_{12}) = m|_K(\phi \circ \tilde{L}_{12}).$$

As  $m_i \to \mu$ , K is a compact domain with piecewise smooth boundary, and,  $\phi \circ \hat{L}_{12}$  is continuous, we have by Lemma 14:

$$\overline{\lim_{i \to \infty}} \left| m_i |_K \left( \phi \circ \hat{L}_{12} \right) - \mu |_K \left( \phi \circ \hat{L}_{12} \right) \right| \le \int_{\partial K} \left| \phi \circ \hat{L}_{12} \right| \, d\mu.$$

Therefore

$$\overline{\lim_{i \to \infty}} \left| m_i \right|_{I_1 \times I_2} \left( \phi \circ L_{12} \right) - \mu |_{I_1 \times I_2} \left( \phi \circ L_{12} \right) \right| \le \int_{\partial K} \left| \phi \circ \hat{L}_{12} \right| d\mu$$

We have  $D \subseteq \partial K$  and by our choice of K we have  $(\phi \circ \hat{L}_{12})(x) = 0$  for  $x \in \partial K - D$ . Therefore

$$\overline{\lim_{k \to \infty}} |m_i|_{I_1 \times I_2} (\phi \circ L_{12}) - \mu|_{I_1 \times I_2} (\phi \circ L_{12})| \le \int_D |\phi \circ \hat{L}_{12}| \, d\mu \le \mu(D) \|\phi\|.$$

Therefore as  $\mu(D) = 0$  we have

$$\lim_{i \to \infty} |m_i|_{I_1 \times I_2} (\phi \circ L_{12}) - \mu|_{I_1 \times I_2} (\phi \circ L_{12})| = 0.$$

Combining the contributions from each of the  $I_i \times I_j$  we obtain  $m_i(\phi \circ L) \to \mu(\phi \circ L)$ .

We now use Lemma 15 to prove the continuity property of  $D_{\lambda}$  described in part 2 of Theorem 3.

**Corollary 16** Let  $\mu$  be the Liouville geodesic current of S. If  $m_i$  is a sequence of discrete geodesic currents such that  $m_i \to \mu$ , then  $D_{\lambda}(m_i) \to D_{\lambda}(\mu)$ .

**Proof:** By definition

$$D_{\lambda}(m_i) = \frac{1}{l(m_i)} \sum_{j=1}^k (L_j)_*(m_i).$$

By Lemma 15, for each j we have  $\lim_{i\to\infty} (L_j)_*(m_i) = (L_j)_*(\mu)$ . Also by continuity of the length function l, we have  $\lim_{i\to\infty} l(m_i) = l(\mu)$  and

$$\lim_{i \to \infty} D_{\lambda}(m_i) = \lim_{i \to \infty} \frac{1}{l(m_i)} \sum_{j=1}^k (L_j)_*(m_i) = \frac{1}{l(\mu)} \sum_{j=1}^k (L_j)_*(\mu) = D_{\lambda}(\mu).$$

We now apply Theorem 3 to Bonahon's construction of sequences of discrete geodesic currents  $m_i$  such that  $m_i \to \mu$ .

Recall that for any  $v \in T_1(S)$  we defined the geodesic  $\alpha_v$  by the map  $\alpha_v : [0, \infty) \to S$  where  $\alpha'(0) = v$  and  $\alpha$  is parameterized by arc length. For any L > 0, we form a closed path by joining the endpoints of  $\alpha_v([0, L])$  by a shortest arc (not necessarily unique). If this curve is homotopic to a geodesic we call this closed geodesic  $\alpha_v^U$ .

**Corollary 17** For almost every  $v \in T_1(S)$  with respect to the volume measure  $\Omega$ , there exists a sequence  $\{L_n\}$  monotonically increasing to infinity, such that the geodesics  $\beta_n = \alpha_v^{L_n}$  satisfy

$$\lim_{n \to \infty} D_{\lambda}(\beta_n) = D_{\lambda}(\mu) = M.$$

**Proof:** By Bonahon [1], for almost every  $v \in T_1(S)$  with respect to the volume measure  $\Omega$ , the geodesics  $\alpha_v^L$  can be used to approximate the Liouville geodesic current  $\mu$ . Specifically, for almost every  $v \in T_1(S)$  there exists a sequence  $\{L_n\}$  monotonically increasing to infinity, such that the geodesics  $\beta_n = \alpha_v^{L_n}$  exist and satisfy

$$\mu = (2\pi^2 |\chi(S)|) \lim_{n \to \infty} \frac{m(\beta_n)}{l(\beta_n)}.$$

Let  $m_i = (2\pi^2 |\chi(S)|) m(\beta_i) / l(\beta_i)$ . By definition of  $D_{\lambda}$  for geodesic currents,  $D_{\lambda}(\beta_i) = D_{\lambda}(m_i)$ . Therefore applying Corollary 16 to the sequence  $m_i \to \mu$ , we have

$$\lim_{i \to \infty} D_{\lambda}(\beta_i) = \lim_{i \to \infty} D_{\lambda}(m_i) = D_{\lambda}(\mu) = M.$$

## References

- Francis Bonahon. The geometry of Teichmüller space via geodesic currents. Invent. Math., 92(1):139–162, 1988.
- [2] I. P. Cornfeld, S. V. Fomin, and Ya. G. Sinaĭ. Ergodic Theory, volume 245 of Grundlehren der Mathematischen Wissenschaften. Springer-Verlag, New York, 1982. Translated from the Russian by A. B. Sosinskiĭ.
- [3] Eberhard Hopf. Statistik der geodätischen Linien in Mannigfaltigkeiten negativer Krümmung. Ber. Verh. Sächs. Akad. Wiss. Leipzig, 91:261–304, 1939.
- [4] Peter J. Nicholls. The Ergodic Theory of Discrete Groups, volume 143 of London Mathematical Society Lecture Note Series. Cambridge University Press, Cambridge, 1989.
- [5] Walter Rudin. Principles of Mathematical Analysis. McGraw-Hill Book Company, Inc., New York-Toronto-London, 1953.
- [6] William P. Thurston. Geometry and topology of three-manifolds. Princeton lecture notes, 1979.
- [7] Stephen Wolfram. Mathematica: A System for Doing Mathematics by Computer. Addison-Wesley, 1991.